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77. Y = -2x ­ 4 
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76. Y = 5x - ~ 

78. Y = -~x + 7 
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79. Y = -8 

x 

80. 3x3 - 2x2 = 0 

x2 (3x - 2) = 0 

x = 0, x = ~ 

81. 2x3 - 6x2 + X - 3 = 0 

(2x2 + l)(x - 3) = 0 

x=3 
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Algebra 2 
Chapter 7 Worked-out SoIu1jon Key 

Chapter 7 continued 

65.	 h(x). = 3x2 + 7; Sample answer: f(x) = x + 7; 

g(x) == 3x2 

66.	 h(x) = 12x + 91; Sample answer: f(x) = lxi, 
g(x) = 2x + 9 

67.	 h(x) = 21x; Sample answer: f(x) = 3x, g(x) = 7x 

7.3 Mixed Review (p. 420) 

68.	 Y - 3x = 10 69. 2x + 3y = - 8 

y = 10 + 3x 3y = -8 - 2x 

-8 - 2x 
y= 3 

70. x =	 -2y + 6 71. xy + 2 = 7 

2y	 = 6 - x xy = 5
 

x 5

y=3-­	y=~2
 

1 2
 
72.	 "2x - 3"Y = 1 73. ax + by = c 

by::::;:c-ax
1	 2
?-1=3Y	 c - ax 

y=-­
b 

3 3
4"x-"2=y 

74.	 y = x - 2 75. Y = 4x - 3 
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82. 5.:0 + 19x2 - 4 = 0 

(5x2 - 1)(x2 + 4) = 0
 

x = ±J02
 
83.	 .r + 6x3 + 8x + 48 = 0 

x3(x + 6) + 8(x + 6) = 0 

(x + 6) (x3 + 8) = 0
 

x = -6 or x = -2
 

84. A = [~ n A-I = [ 2 -~J-2 

[45 2l][_~ -~J = [3 15J CO 

[84 35][ _~ -~J = [14 7J NG 

[92 37][ _~ -~J = [18 1J RA 

[142 61][ _~ -~J = [20 21J TV 

[62 25][ _~ -~J = [12 1J LA 

[118 49][ _~ -~J = [20 9J TI 

[103 44][_~ -~J = [15 14J ON 

[95 38][ _~ -~J = [19 OJ S-

Lesson 7.4 

Developing Concepts Activity 7.4 (p. 421) 

x-3 
1. y = -2- 2. 
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3. g(x) = 2x + 3 4. They reflect one another. 

5. g is a function that multiplies x by 2 then adds 3. 

6. f(g(x)) = (2x +~) - 3 = x; 

g(f(x)) = 2(x; 3) + 3= x 
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